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Which of the following fits the gap in paragraph 47

A

B
Cc
D

After all

In general
Trouble is
What’s more

Tekst 9 Meet Zoe: a cat with degrees

32

33

34

35

Which of the following fits the gap in paragraph 1?

A

B
Cc
D

discipline
fame
literacy
success

Which of the following fits the gap in paragraph 2?

A
B
Cc

due to
hence
in spite of

Which of the following fits the gap in paragraph 3?

A
B
Cc

he managed to double his assets
he started his own practice
he went after bigger prey

Which of the following fits the gap in paragraph 5?

A

B
C
D

absurd
common
controversial
impressive

Tekst 10 Health and safety

36

Drie van de onderstaande vijf zinnen (a, b, ¢, d of e) zijn uit de tekst
weggelaten. (zie 36-1, 36-2, 36-3 in de tekst)

Geef bij elke plaats aan welk van de zinnen daar hoort.

Noteer de letter van de zin achter het nummer op het antwoordblad.
Let op: er blijven twee zinnen over.

a
b
c

d

“It is important that Health and Safety is not dismissed as a joke.”
“Schools should not take the law into their own hands.”

“They are more likely decisions taken by well-meaning individuals who
misinterpreted guidelines.”

“What parents often fail to realise is that they have first responsibility
for their children’s well-being.”

“What people sometimes hide behind when they misuse the health and
safety term is the fear of being sued.”
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